
3-Piece



A:Armrest

B:Single seat

C:Single Back

D:Right leg

K:M6*55 Screw

E:Left leg

L:M6*55 Screw 

M:M6*35 Screw

N:M6*30 Screw

Q:Table frame

I:Table leg

W:Glass

O:M6*20 ScrewI

Q

W

A

B

C

D
E

2-Single Chair

1-Coffee Table

4 pcs

2 pcs

2 pcs

2 pcs

2 pcs

1 pcs

4 pcs

1 pcs

8 pcs

M6*55

4 pcs

M6*55

8 pcs

M6*35

4 pcs

M6*30

4 pcs

M6*20



Single Chair Assembly step



Coffee Table Assembly step

Notice:
Please do not place it in a humid

environment for a long period of time. 




